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1 — oooobogon E 660,000
T2 = goo E 290,000
T2 = goo E 290,000
4 = goo E 160,000
T5 = goo E 115,000
T5 = goo E 115,000
T7 = goo E 86,250
T7 = goo E 86,250
T7 = goo E 86,250
T7 = goo E 86,250
T11 = goo E 67,500
T11 = goo E 67,500
T13 = goo E 57,666
T13 — oooooo E 57,666
T13 = g E 57,666
16 e goooo E 52,000
T17 ® gooo E 49,000
T17 = goo E 49,000
T17 = goo E 49,000
T20 ® goooo E 45,500
T20 ® gooo E 45,500
T20 = goo E 45,500
T20 = goo E 45,500
T24 ® goooo E 42,000
T24 = goo E 42,000
T24 = goo E 42,000
T27 = ooo E 38,500
T27 = ooo E 38,500
T27 = ooo E 38,500
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